x(x-1)(x-2)(x-3)=15
x(x-1)(x-2)(x-3)-15=0

(x2-3x)<x2-3x+2)-15=0

3aMCHa NIEPCMCHHBIX.

ITycTh t=X2—3X
B pesynbrare .

t(t+2)-15=0

(2+21)-15=0

242t-15=0

Haxoaum nquckpuMUHAHT.

2

D=b’-4ac=2°-4-1(-15)=64
. =D
1,2° 2a
-2-8 -2+8
LY== 3

B sTom ciydae

x2-3x=-5 :

2
X -3x=3
Pemraem kaxxzioe ypaBHEHHE OTAEIBHO

1)
x2-3x=-5

x2-3x+5=0

Haxonum nquckpumMuHaHT.

D=b2—4ac=(—3)2—4- 1-5=-11
2)

X -3x=3

X -3x-3=0



Haxomum nuckpruMuHAaHT.
P2 pan 2\ _
D=b"-4ac=(-3)"-4-1(-3)=21

_-b+[D

X127 2a

3+/21 3+/21
2.1 2

3+/21 3+/21
1521 T 2 %7

321 32
2 S X= 2 .

OTBECT: X=



